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Note:- You have four choices for each objective type question as A, B, C and D. The choice, which you think, is correct; fill that circle in
front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that

question. Write PAPER CODE, which is printed on this question paper, on the both sides of the Answer Sheet and fill bubbles accordingly,

otherwise the student will beresponsible for the situation. Use of ink remover or white correcting fluid is not allowed

. (D) () (B) (A) QUESTIONS Q-1
Joel Fedh Lz Ui ety e i | 1
Lﬁ;’:li g d vo;?;?l?d()fa Area Mass A measuring cylinder is used to measﬁre
Frew | Frdku | Frspan | Frg e dntrdhul o8| 2
}:;l:gggl ltgg:}g;y Vri:) ggt(:y '[;1?;:; The motion of a clock Pendulum is
. P=mv P=Fxd P=dt P=ma Formula ofmomentumﬁ@ -‘LJrJW(uf 3
s s | ud eS| sl | pigEs s @x‘\zag/ Vel s | 4
Certl‘érrifengal Gra\t/‘(i)t:::tional M?f;iﬁc Cer}(t)rrif: tal Which f?{%@s\v@ abody in a circle?
Nm” Nm N N.m SI ,g&&;%ﬁae is —eySIESE | 5
& JLKﬁ el | clyssh | canng? \\-}/ e Fu=ddg | 6
edx Decrease in | Increase in Value of ‘g’ increases with the
Decieasein | aiiitude altitude Py - |
body .
S0 25 N N -(fﬂé;JJl_‘AZS JJ/I_‘Q(}KJK LS Ha |
The Kinetic energy of a body of mass 2 kg is 25 J. Its speed is
pgh £ % pgh pgn ~ -4.4'424@461/ B8
At the depth of h’ The pressure of a liquid is
10kgm™ | 100kgm™ | 1000kg i (10000 ki ™}y The density of water is el | 9
-aa&ajl]gx)gf(d){(u!jfi .10
23°C 22°c 21°C 20°C T
The crocus flower open at Temperature
lf/(/ d,t' Ny ¥ -ga)kijﬂ?a/l](!‘jﬁg/gﬂdig/ﬂ A1
Mercury Water Ice Copper Which of the following material has large specific heat
/5_&. uyﬂ/ u?-ldfg/ ﬂ/ -‘a,gﬁy/dlé./uflﬂﬁbﬁflb’ 12
Power “Conduction Radiation Convection | What is the reason of gliders to stay in air.
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Answer briefly any Five parts from the followings. 5%2=10 .q‘f /J’ A2 /‘.’. Zizi é&:.(jf eSSl 2 / Jir

Differentiate between nuclear Physics and atomic Physics. LS Saba A @
Write down the number of significant figures in (a) 2750.0  (b) 0.027 (@)2750.0 ©)0.027 -, urxef (i)
What is Net force. Give an example. ) . -ZTEJJL’?...Q?QJI /‘Lfc.dj:;:':' Gii)
How the Least Count of a Vernier Callipers is determined? S blolf ot 4/_‘;;&1:4(; )c:\.f( #un Gv)
Differentiate between sliding friction and rolling friction. IS S BunSp b W)
Define an Isolated System. Give its example. _EsJe LSzt 24 ("/ 25T (i)
We donot feel gravitational force between objects around us, why? tdat s ud s Seues e nlpn L pieda (vid)
How is the centripetal force is provided to an artificial satellite (}@JVJJ/}J%‘ $A~ v i L ..._(U; Lors (i)
around earth? What will be the value of this force? *\f MU;CI,J’JJJJ e
Answer briefly any Five parts from thé followings. 5x2=10 <J S /‘ =R /‘! Liz létc_é:( c—ufd' 3G -3 / Jir
Define uniform velocity and uniform acceleration. -é._ﬂ Ay s Usp g o @
What would be the shape of a speed-time graph of a body moving it/ f' b4 2l S e b SiS s G
with variable speed? Explain briefly? v -2_{ Uk /‘:” ‘.’J M_l,f\_}‘e d/
Define vibratory motion and write an example? <& %ﬁ} 20 Jﬁ‘vﬁulid /"’. J J vérAy  Gid
Define plasma. Write two examples.?éf S g/ e principle of floatation?-2% Judr ¥l 7 Gv)
Explain briefly with example that atmosphere exerts pressure? ﬁg -‘Lub Yy &Sz é 5 e J& /‘i (v
Why does a cup of hot tea become cold after sometime? @ U bl o ol re ?/ KLJg(/f (vii)
Write two uses of convection currents? @ L 2 LS S i)
Answer briefly any Five parts from the foflowings. sx2=10 -z felinf Linbhebfactditn 440y
On doubling the moment arm , What WI sffect on the value of Torque? N E I8 4l i \.,CB:.L./ oYY P O]
What is meant by trignometric ratio32 el /_L:rau}'.’:' e/ s r" 2 (Gii) Define clock wise momentum?/. /. .y c.,( f‘/ vin ¥ Gi)
What does a force do work? ?‘Laf (ﬂfcj L Gw
Ali pulled a box through 30 m by applying a force of 400 N, find & _F0m S WL nZ B FSa00NF ()
work done by Ali? S 1 (}” J»y’;fb’ d‘ “
How wirid affects Evaporation? "r_dxuu!/lc/‘*/ r/u) =541 (vii)  Define Efastic potential energy gl 6 L?.}td"‘f;iw (vi)
Define volumetric thermal expansion? (0 /. u?L'o:J %4 J/U’ A (Hu (viii)
Part II R
Note: Attempt any Two Questions. 9x2=18 .Jf LF ._,gsyéumr»c.éf Y
5.a. Stateand prove law of Conservation of momenturn. EE bl ZE 96 Ko c.'/.(‘/ » (a)s5
Find the gravitational force of attraction between two spheres each of LS /‘C_ut-q. 1000 kg Sl s i LS ()
mass 1000 kg. The distance between the centers of spheres is 0.5 m. J/ (}”JAJ” dgf e nLl-g-0.5 m Ll s
6.a. [Explain translatory motion and give examples of various Lol /e <_.)uJ &, rUl.al—"' vl /-)/ 17 (a6
types of translatory motion.
b. The density ofairis 1.3 kgm . Find the mass of air in a room ZF &8mx5Smx4m -« 1.3 kgm 6".5-50/1)’ ®)
measuring 8mx Smx4m. é(}” L l.(mir.j!z_./
7.a. Define Couple. How can you find Torque due to Couple? Y d/ Sk 34 S J-),/ & /l/c—g}'r (a)7
Explain. Z:.)U)-L.LT
b. How much heat is required to increase the temperature of w7 A.‘C_d,b/J 65°C «-10°C Y e Kdl.rlf :‘0 5 (b)
0.5 kg of water from 10 °C to 65 °C? o !/(/)J!Mo'( g
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Note:~ You have four choices for each objective type questiod as A, B, C and D. The choice, which you think, is correct; fill that circle in
front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that
question. Write PAPER CODE, which is printed on this question paper, on the both sides of the Answer Sheet and fill bubbles accordingly,
otherwise the student will beresponsible for the situation. Use of ink remover or white correcting fluid is not allowed

(D) (C) (B) (A) QUESTIONS Q-1
Ve Jr S o2 Sewrysibe S|
Meter Mole Ampere Second ST unit of electric current is
Jy'd/:/.’u Sy Jrrfc;/ L-fr)f/ q-alh'(fmff)’)/ﬁf-(’é-’ 2
Vrll?(:gt:;y I:g}g;y }:(r)ngg:) : %Li?ézr The motion of a body around its own axis is called
Sl L ot K ceySINS | 5
Ampere Kilogram Newton Pascal S unit of force is
mv? - 2 # @90%/5&])}‘}26}? 4
2 2 2 . .
¥ r mv v The formula ofq(@rﬁéal force is
&,
s _g| 550 | TF=0 | zr=0 O%@O P HHSEASE | 5
F, £y Fizsfcandition of equilibrium is
.- . A
10000km | 42600 km Py 6400 kmqgg e QeSS LSSk | 6
Infinity ﬁA\ Earth’s gravitational force of aitraction vanishes at
(24 s ;
50ms’' 25ms’”’ 12.5ms’' ‘ Wnkrbuteas) EOSALL0 S5 |
A0S The K.E of a body of mass 2 kg i 25 J, its speed is
e H- ST
E=m’c’ E = mc’ E= E =mc .l ‘L. ’l./&/ u"'&ﬂ’d 8
Einstein's mass-energy equation is
\g’\\ .
Strain _ . Stressx Strain Hor Ll L g; 9
Stress=Constant | Stress ~ in = Constant
s p=Constant | </ = Constaiit v = Constahe u:/‘/xﬁ/‘ According to Hook’s Law
S g
=Constant
e dub S v ¥ | 10
35°C-42°C | 30°C-42°C | 25°C-42°C | 20°C-42°C
The range of Clinical Thermometer is
26°C 29°C 28°C 27°C On Celsius, 300K = ? 300K = VU':L)-'-‘C&/FJ{ 11
0.8Wm 'K | 0.03Wm K" | 0593 Wm K" | 0.08 Wm 'K~ | Thermal conductivity of wood is ~c“..l:5_"ég1«(‘)/?g;dﬂ 12
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Answer briefly any Five parts from the followings. 5x2=10 - Sz L7 ..—Lli/‘; Lz étr_df c;ﬁd’ $1O%) ,2/ dlr

What is meant by significant figures of measurement. Cfel /Lfc.urmﬂlu‘: J _kf,o’( @
Differentiate between Base quantitieé and Derived quantities? ‘.‘g_J)'_L,fu: s st ol Gi)
Why do we need to measure extremly small interval of times. -‘gazu[ = /"J Q_l.f ] 5JSG GL“?'I Zess 2 Gid
What is force of Limiting Friction? el /Lf:'_u’n;g,( u"r /él;'fl Gv)
Why rolling friction is less than sliding friction. ?‘L‘Eﬁu).f { 4'4/ir N3 ll/cuy /'Jf'u (€]
State Law of Gravitation. &= 906 A Sz (vid) What is law of inertia?  fetsl/wsesles  (vi)
Write two uses of Satellite. i Lospe (viii)
Answer briefly any Five parts- from the followings. 5%2=10 _u’/ 4 f \-"LL?/:? Lz é&aél eSSt -3 /" Jir
What is LIDAR gun? "c'..lfg/(/f)) LIDAR (u) What is meant by terminal ve]oclty” RS IS G
Define Acceleration. Write its ST unit. l [ ZJ 7 Ju’-{)’{l (i)
 The mass of 200 cm’ of Stone is 500g. Find its density. -ér:"’u"'-od/u’l g ) /{-Lrﬂuzoo em’ i Gv)
Define Hooke's Law. S JSulk W
Why does the atmospheric pressure vary with height? "c_b’bdAu/ LS /'/..f el (i)

Why does see breez blow during the day? Why does Land breez blow in %?q—ﬁ U -:—’:L.:sz/.rf‘ ?‘cdl: U Lo /T(f (vii)
How can the temperature in a green house be maintained? %5 ?c"_t'klfu'; /.c.-Z//’ v, ,5—/-..; kSl (i)
Answer briefly any Five parts from the followings@2= 10 g/ zfeuz ALz é&;.(jf e Lditn ALy

Differentiate between Torque and Couple. -2 g/} ii) Define Resultant force._é - Susdesy, @
ibrinm. te bttt E SIS G
ces of energy. Ay iy, (‘zlu‘éu’./’u,,‘_? SO FSE Gv)

' LS gy J s, )

Name a device that converts mechanical energy into electrical energy. -(".(3/ 9 Gil(ﬁ /’glf ;,?./'IJ:"-I ,?.u.‘.j rt(uj l{ﬁ(ﬂlgf( (vi)
Write difference between Heat and temperatureé’g S 7 sl . ;,; (viii) Define internal energy. ~2f Y SeHJS Fr (vid)

Under what condition a body is said to be
Define Renewable and non Renew

Define power and write its unit.

Part. 1I ; YA
Note: Attempt any Two Questions. 9x2=18 -u’/ 4 /’ ._,u;{...wr»r.éf Y
5.a. Find Tension and acceleration in a string for vertical motion =S 7l rPl _)u’/ (:L"‘ %)’(ml u") Hé @5
of two bodies attached to the ends of a string that passes over e s Ldm..g,grlz.i st
a frictionless pully. .
b. A communication satellite is launched at 42000 km above 24 ,J.J 42000 km < il u;«q_?’c ,J/ ._fl ®)
earth. Find its orbital speed. . . -éfr)’" J 0 J JI-LQ// J;f
6.a. How is kinetic molecular model of matter helpful in 4 IR L L TY P uPteudF Sl (@6
differentiating various states of matter. ?q.bﬂédf'U)b‘z/}’UI Py /”
b. A train moves with a uniform velocity of 36 kmh ™" for 10's. 5 (5”/«3’?.&‘1 0s cd’ﬂ;r/l}jgu(% kmh” g2l (b)
Find the distance travelled by it. -é{‘:l”‘ Lo S L6 oz
7.a. Onwhat factors the evaporation of a liquid depends? Explain. Eoawobste b NP S AP F iz g’ @
b. A motor boat moves at a steady speed of 4 ms™' water resistance S 4V '-{—3/ w7 e dpatfSams 2 a2r L ()
acting on it is 4000 N. Calculate the power of its engine. s JJ,L,J F1lu 1-¢-4000N S /'/del;d"i—f
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Notei~ You have four chioices for euch objective type questicn as A, B3, C and D. The choice, which you think, is correct: fifl that sirele in
front of that question number. Use marker or pen to fill the circles. Curting er filling two er more circles will result in zero mark in that
question. Write PAPER CODE, which is printed on this qnestion paper, on the both sides of the Answer Sheet and fill bubbles ace ordingly,
otherwise the student will de responsible for the situation. Use of ink remover or white correcting Muid is not elfowed
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(0) (C) (B) (A} QUESTIONS Q-1
{"J,fs}"/ ,('Lf Jy‘ oy Amount of ~Enf Y K -'fi‘,rh’ A L}___mf ‘.’;LJ A
Kilogramme __gram Mole Newton a substance in terms of number is measured in
..L/'-L'u'* Sl .é-" /a‘; e f'éfa,dﬁfu’u;&..u’:d josnr |2
Displacement Distance Speed Power Which of the following is a vector quantity?
NIR L,rJ}; L}"U,' J @ (»‘c"_t':’w',_’:ujjwsi b/_l_ﬁ./‘l 3
Net force Force Veloeity Mass Inertia dcpcnq@@ﬁﬂ
'JJ:; c}i'/. J /:C O% & '.—gfc‘-ub 4
Force Friction Mass Scalar )Xip:%{ S d
. "
Ffﬂu’:{id}zf PR ‘ﬂ/ S iﬁ Lgd/ﬁ,ﬁ,ﬁ@ﬁfﬁ_}kfuégfjﬁdllﬁJUuiuylj;(/:: 5
Neutrat Equilibrium A couple A @ Two equal but unlike paralle! forces having different
_— & —
cquitibrium A line of action produce.
6.673x107"" 1 6x10°Kg | 6.4x 9.8 ms " cedfi@Utey-s1 | 6
Nm'Kg In SI-unit, the value of G is
1000 Km | 42300Kin | zlebosl | 6400 Kim ceden eyt sy LSt | g
Infinity Earth's pravitational force of attraction vanishes at
100 # 201 % 757 34 Efficiency ofan ideal sysiem is .. ™~ /e | g
JALLE | Lusta | oL | ok L D N e SR ST
eal c.u.JJr’l == o= The density of a substance can be found with the
Principle of . . L s
P Archimedes Hooke's Pascal’s Law | help of
tloat e
principle Law
J”&I’V':: ../JK(A;/JC}'L i =IN7 >n S‘gb/x‘t‘z)’d’f,ﬂnszfc,u:uy .10
Allofthe | Surfacc area Wind Temperature | Which of the following affects evaporation?
above of liquid .
) il d 2154 g W " j j
LA C/d’dé'./ . Arr / -UJJ-‘-JVdﬁr-JJﬂd/.r-/' U
Abserpfion | Cenveption Radiation Conduction | Land and Sca breezes are also the examples of
1y, | -1 - ;
Kg K JKg K JK Kg' SI-Unit of specific heatis e 2/y—SIKos =i | .12

%7 921 -0922-80000 (1)
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Angswer briefly sy Five perts from the followings.

3/ ¢ ROR——

Swg=il
Estimate 20 years age in seconds.

What is meant by significant figures? And how many significant
figures are there in 0.0277

Define base guantities and base units.

Differentiate between distance and displacement,

A sprinter completes its 100 m race in 12 seconds. Find its
average speed.

What will be the effect on the vaiue of centripetal force when the
velocity of body becomes double? (Give reason).
Define momentum and write its formula.

When a gun is fired, it recoils why?

Angwer briefly any Five parts from the followings. 5%2=10
State second condition of equilibrimin. Write its formuia.
Distinguish between like and unlike parallel forces.

Why the value of g~ is different on the surface of the earth.
Define geostationary orbit.
Write down the vaiue of “G” and mass of earih with SI units.

Define and write the Einstein’s mass energy equation.

PGP D Whatj

S

Define magma.

Uit s
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Gii)
{iv)
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{vii)
(viii)
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I I 5
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©@u‘ﬁ AL 81l S G AL )

S i st P S et FANS TS T

@ éy elastic potential energy? S V2l c.d/lu/f {Ji&,l

{i}
Gid
(i)
Gv)
W)
(i)
(vii)

Answerbriefly any Five parts from the followi sxa=10 iz febn S Linble $feditn A4y
Define Pressure. Write its Sunit. &b 2 ySLEUIEE A g A W
Define elasticity. v State Archemedes Principte. Zx o6t (i)
Change 300 K on Kelvin scale into iis scale of temperature. :i’:) PSP 9 - u"/l/ Sz / 300 K /J’( u.r'/ Giv)
Define Latent heat of vaporizatiorn. -éf: it J =T (ﬁ ) v/ Flges 2]
Write down any two factors on which rate of heat flow depends. e AT 3 L:AIJ/T Pl f Nt dmeds ()
What causes a glider to remain in air? e oK S nliiz 18 (vid)
Define conduction and convection modes of heat transfer. J i {f u’c u’r A ur" =/ b ez JGA (viii)

Part 11 Y/
Note: Attempt any Two Questions. gx2=18 ~Lff 'y u“f&umr‘»‘bé}cu
.8, Derive Third Equation of motion with the help of speed-time graph. 13 cf_f shadsla S 2 d 2l P s-"} (’ by (a)s
b. Abodyof mass § Kg is moving with a velocity of 10 ms 5 I g s [l 7 5 0 10ms™ [-"? L Lr!f ¥s (o)
Find the force reguired to stop it in 2 seconds. ,u_'.r?s"‘” Tt Kind L L e i2
6.a. Determins a force from its perpendicular Components. 4 -.’.{; IV 9 s 'u( u‘" :o;( Sorf (ad6
b. A motor boat moves at a steady speed of 4ms’'. Water resistance 5 S ,',J'i_‘_',,[jf '-'/‘/«76'—4'-.%33’;‘;‘7,(4:&13"\:,« e )
acting on it is 4000 N. Calculate the power of its engine? e . o ok \f 1L 14000 N i J{}l dii S
7.a. Define Thermal conductivity of a substance and Prove that i+3

GRS A

K=

0
T ATy

Eetbmit s faEr AL @
; L

b. An electric heater supplies heat at the rate of 1000 Joules per /. 200.4‘:4'}}-:«111’4;6 ;J 1000 Js™! j—z.f /’Q l‘ufl ®

second. How much time is required to raise the temperature

0£200 g of water from 20 °C to 90 °C?

Kot L n £90°C & 20°C £4%0)

922 -~ 0922 - 80000
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Notei= You have tour cheices for euch objective type question as A, B, U and . The whotee, which you think, is correct: il llm' circle in
front of that question number, Lse marker or pen to fill the circles. Cutting or filling two o more circles will result in zero o ark i that
question. Write PAPER CODE, which is printed oa this question paper, on the both sides of the Answer Sheet and 11 bubbles ae cordingly,
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LDy i (B) (Ay QUESTIONS Q-1 |
| : 0.00} mm I mm 0.1 mm fcust count of serew gauge s, —e K 'w“i:ﬁ,’ '/C i ‘}
1} o - t
Ll e :—;/'?, Ve | ; ", L AL e | 2 E
. Wan Newton Kilogram Pascal : Which efthe following unitis not a derived unit? “‘
400 kmh 300 kmh™ 200 kmb™' 760 kmh " _The speed of Falcon to fy is
| s Sl 13 ety Yy Bl LW ae iddpine | 4
Powery Displacement Distance Speed Which of the fbliowigg”é:\qvek.‘tor quantity?
rg.zmv/r Fe=mr /v Fe=mv/r Feemviir | @--g~lifJUb.d.-/f‘.rL ! ”v”"’u/ )
The t w{}@l?ﬂd the centripetal force is
%@_adt ,,m{Jo"g L /(fx LSS 210 | 6
8.7N 7N 5N 4N @ Eno ol Py
@ A force of 10 N is making an angle of 30° with
horizontal. Its horizontal component will be
y 5’(‘)'»&/!&:100kg/__,llg..c_:.l.énxstzcﬂgp(g/?é/‘f;ig 7
1600 N 100¢ N 160 N 100 N The value of ‘g’ on tmoon surface S e
is 1.6 ms™ What will be the weight of a 100 kg body |
_|_an the swrface of the moon?
' S e S et gk |
25 34 22 24 Themuebers of total satellites in Global Positioning
Systentare
~a- b sl s c’_/.,'wl;,:,t(_,oﬁﬁ,aﬁa,r/’/._,c, 9
180° 45" 60° 90° ‘The work done will be zero when the angle between
the force and the distance is
b (‘::,l;l d// 11 ?C"—(ﬁa—\-/(h:/‘p))é-(ff 10
Lead Aluminum Mercury Copper Which of the substance is the lightest one?
0K 273K 32 °F 0°F Water freczes at -ctl_t‘tgd.)'/,/?/j./;;‘ﬁdg A1
12 8 6 4 The faces of Leslie’s cube are _(JJJ;':\/.?L/J‘_,[JA 12
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Answer briefly any Five parts from the Tollowings. 522=10 .y /,r/ .:«Luv = &..D”.’!(,L@ch,jJ)Z,u .y :Jf/
A serew gauge has 50 divisions on its circular scale. The pitch of t)u s /C i ‘....,/)50/\,}' /b//t_( V/LVLI )
screw pavpe 18 U.5 nun. What is its Jeast count? ("‘{*”L’: sfedbUte e 0. 50 b &
Detine plasma physics and geophysics. 4,1_”4/;.,51/" J(_,I’ '/’:;7’»4(,/?,.,-)1{, (i)

Write down two rules to identify significant figures,
Differentiate between velocity and acceleration.
Define mementum and force.
Write two methods 1o reduce friction.
Why rolling friction is fess than sliding fiction?
Convert 1 kinh™' 1o ms™

Answer briefly any Five paris from the followrings,
Detine Axis of rotation.
Why the height of vehicles is kept as low as possible?
Differentiate between Torgue and Couple.
O what factors the orbital speed of a satetlite depends?
Whal 15 meant by the force of gravitation?
Law of graviltation is important to uy, glve reasen.
Define power and write its formula.

Which form of energy is most preferred and why?

Answer briefly any Five parts from the fo
Write any two features of Kinetic molcs ode! of matrer.
Define Pressure and give its formula,
What is Greenhouse effect??cf.,y'b,gé’.!uél,uj/” (v
Give any two properties of thermometric liguid.

How does hieating aftect the motion of moiecules of a gas?
Write two uses of Convection currents.

Why are metals good conductors of heat?
21 TR | |

Note: Attempt any Two Questions. 9

5.a. Derive third equation of motion by graphical method.
b.  Abody has weight 20 N. How much force is required to
move it vertically upward with an acceleration of 2 ms 27
6.a. Determine the mass of the Earth.
- The steering ofa car has a radius 16 cm. Find the torque
produced by a couple of 50 N.
7.a.  Explain the working ofa hydranlic system as a force multiplier.
b. A container has 2.5 litres of water at 20 °C. How much h

required to boil the water.

G

924 - 0922 -

Y= 'guir“ (s ..:{.:f &fiufu_rﬁf‘f?' Gii)
. ~L£,./5’JJ/.L,V:UQ/L{U)’UPU) Giv)
S A u)ﬁjs!rf“.{z‘ v
SRS LSS e
Ve (o }"}, P rofl'f,.ﬁ B (D
u Kikms S 1 kb (viii)
ivz=10 .y{,:,/r.{/’?o‘_,i,f,f‘?. oy .Ztc., :c:..uiu' Ty 377 i
._,«vr"(.‘_/ n;,ufjf(! ‘11\)
‘;T:& f’/ -vr"\_,.(‘ o V: ldu"JL( (i
@@ vu,»’u!q};.«r:‘):',-,:»;,-e {1}
¢©_ Lud g ',"r; 2 'r).f._ tj"/Jvaf"s_, Gvl
@ ‘_J!/& P O:’J/U’:’f {v)
%5@ i )Lj LR r«r__,._,/hu:b Kqﬁ'd!/ {vi}
m""’UUfJGKU’i/;l;:._iJ/ﬂJ,‘J&. (vii)

VPR SR TR T fa YA S B O 1)
NS /j..:,gm A Limhe 3 e tdits 42y
_15._’,._//"/,,;&1:3/,.‘»7' )Jg}'éf;/(uﬁtﬂ:;?tw@'(jg%)t )

Zofe v /-.4-- i L3
-ciCJfJLuE/Lusc_;.,y/u 2y (i)
What is meantby internal energy? ‘-'z‘_',ﬂ/_l.)/c:.d.)lu'/’-'l Giaid

E Fete? us SIBml sdin g e 7 (W)
Se_b s Nen7 g frd Il AL AT i
N.;l.f:‘.,/‘ ol L "'/u;g,/ {vii)

fur (}hu ,J L)’ 1A (viit)
~~~~~~~~ N

-

3
7

r;

X2=18 -'.,[/r Y :A,b?&avlrucdﬁ.bi
143 e JJU”@)&';f ol S0 ()5
5 /,,ua,«,r-,u”-)vzna_z ms U1 20N wsd L (o)
tSnen pludd L Livi ps
3+] kUit @6
5 J{LSON-,‘:. 16 cmu-?'fyiﬂ)fﬁjﬁ."’f./{()’r ®)
,;j_./’(}”\fJL‘UI:Lm#_,c_
4 -:{.f.:-?DJJL/}(]@:U&JJ}/#&(L—/JMJ_EL (a)7
eatis 5 ~e-20 ”C/j./ﬁb’(f-g_mrdgjz.s ADP ST ()]
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c...{l-’c_{:;/fc.d;?gfjtﬁf'b:nW‘&W Z:\.Tal;?://‘vc;ufu)?bii:.) Z.‘VZ.JI:’/;/TL}_KL}I)LUJZ‘:Z:_JDulCer/\oUJT.'f/lgLJlr/;:..‘u;
e 508 LN E Sy PAPER CODEL 4 2 U1 Mt L ¥ 7 rar s oid it st § S LS LS 1 st
& w’ ' _§_Li/LJL’:"I(5}:‘54_»5’&/))‘:/.,@-(5/;74:(1‘.._xjkbd/l).a-}}.('l;Lj:.://r“d/ubh ru:/
Note:~ You have four choices for each objective type question as A, B, C and D. The choice, which you think, is correct; fill that circle in
front of that question number. Use marker or pen to fill the circles, Cutting or filling two or more circles will result in zero nark in that
question. Writc PAPER CODE, which is printed on this question paper, on the both sides of the Answer Shect and fill bubbles accordingly,
otherwise the student will beresponsible for the situation. Use of ink remover or white correcting {luid is not allowed g

(D) (C) (B) 1(A3 QUESTIONS Q-1
S A . ;
5000 ng 100 pg 2 mg 6%'0"(:225/ "%"d’{‘*”'/’”du[@uﬁd’@’ 1

%} fWhich one of the following is the smallest quantity.

) ({leiﬂéi ufn1s"_+(ﬁ///.:fic;4’§ S36kmh 'Ll | 2

30 ms” 25 ms ' 20ms’ 10ms” ! L
A train is moving at a speed of 36 kmh . Its speed
expressed in ms ’ is.
Ns™' Ns kgms_z Nim ".L&!s’r{’/a’u:‘):j?“? 3
hich of the following is the unit of momentum
I > i % pee oy O .
Ty S Sip s 5 Us W}’u:’l’cj—:f,édﬁ.fdfkﬁﬁf,c%u/&d:dﬁ)?/# 4

Newton's first law of maotion is valid e b Ukl
t

Momentum Torque Net force Velocity .
only in the absence of

omers PN
xjﬁﬁ)’gg FM S npug;f,c}:g( xr,w;f,vﬁv @E@B‘yuﬂ/dﬁ/_{l 5

Acceleration el 24 Speed is Acceleration | A body is in gquilibidm when its
is zero Speed and uniform is uniform <
- acceleration %
are uniform \ﬂ @

1000km | 42300km | gtebongy | 6400lan @ el wtus S/ St | 6
Infinity @ Zarth's gravitational force of attraction vanishes at

Qi | e dentl | &brtls BB HE TS 1d S | g

Becomes Becomes Becomes If the velocity of a body becomes double, then its
half four times doublg ! kinetic energy will
4 5 7 N 1 -../‘,_Jﬁ;fpjl,(u""::-){dufl:/‘{xf( 8
The number of perpendicular components ot'a force are
10" Nm”* 10" Nm™* I Nm” 10 Nm* g b if LGl S8 a7 o

SI unitofpressure is pascal, which is equal to

£ J* 4 gL w&/'—"»gd/_*»‘/?&lféilk{d:”d:d/.‘”ufaufufii;//) 10

Which of the following materials has large V‘L.d!i

Steel Brass Gold Alaminium | ajue of temperature coefficient of lincar expansion
. e B LS LEGA L | 1
gx10 K 8x10 "K 6x107° K 2x10° K ,Jﬂ_;{:"(fg,yf(jﬂfﬁju:ﬁ'uirﬂuéléjx10-51(']

What will be the value of 3 for a solid for which @
has a value of 2x10°K'?

FlAL ALy | AL | g e Wi UL 12
YL AL A C
Rapid Small size Big sizc of Free Metals are good conductors of heat due fo the
vibrations of of their their electrons
|_thcir atoms molecules | molecules

Y .//',,/- 923 0921 ALp - 60000 (1)
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Answer bricfly any Five parts from the followings. 5%2=10 -gj_‘fJ;;:a&lﬁ/ﬁﬁf?f @Eaé:fc—u‘fd’,)@; -Zﬁ'}d’)’ .
Define Physicat quantities and Scientific notation. S A s ].'@i".fltm:lum.@dfb @
Gl vl &

?§.ﬂ/(__fc_,uig/[)/~jub/_b/_i (ﬁ'()/

Define position and give an example. QJJL*/J::Z:_{.-/..&’/;JUL{J{ (\b Define velocity and acceleration.’c"i:ué’/ﬁgfu)t)'{l):lub’u: (iv)
é/{lﬂ;ﬁilfééf;.‘,pf i)

_ZJ:/._JZ_J/:"JH’;{K/;I?/'I (o)

Write two important parts of vernier cglipers.

What is meant by zevo exror and 7cro correction.

Draw the graph of constant speed.

Define inertia and momentum.

What is meant by friction? Why rolling friction is less ?.;_Jﬂu[fauf’}jl’uﬂj/)V@,u?c‘.:i/tfc.uy/' (viil)
than sliding friction. o
Answer briefly any Five parts from the followings. 5x2=10 ..J_f 4 f el /:; LIzl égc—éf Py J_J(w; =3 / Ui
What is meant by axis of rotation? ?cl_._)b/gﬁffudffgl { What is moment of a force? Tg_.gf(j/i'.)l’wr' @
State principle of moments -u:/u&.dr"fgu":‘f Cxﬁ)/
De you attracts The Earth or the Earth attracts you? Which one is u’u;nt)u:‘/‘-'c.f'f;:[ful'ufith‘.ﬁ{fgﬁ)uﬂf Gv)
attracting with a larger force? You or Earth. ‘ ) C o
& B T e e P
Write two purposes of artifical satellites. -LJ:RJMG’JJL Wadlogt e )
What is meant by ‘g. Also write its valuc. X "o‘{&uzfl-‘aﬂ/gc_fg' (VS/,
Definc efficiency and write its mathematical formula. _J_/@ gHe e KL)"}}IJ./_,A_;‘}/‘]JJ":"(E] )

A cyclist does 12 Joules of useful work while pedalling his bike from | % KE 174 £3A391007 rekiogs (Vi)
every 100 Joules of food energy which he takes. What is his efficiency? % ?c‘:_Lffu/.{;leJJl_q_k’fJul'/b/lZJLj-'-'
S f ez Limbie e diditn 440y
State Hooke's Law? ‘-'éu__b.u)b" 4 6()
e Jpk sy GiD)
sy Fl bl g e 7 0l
vl gy S fEPE S s W)
What is meant by Convection Curren %_Vlbf“u’b’gf‘fﬂf (i)

What is the difference between land breezes and sea breezes? "q_J/’ quﬁd/‘-(-))ﬂd/,(-) (x)’ﬁj
e (B L e treis (i)

Answer briefly any Five parts from the followings.
Define density and clasticity 7825 ¥ AU sl &

Differenciate between stress and strain?

Define the terms heat and temperature?

Define specific heat capacity and wri

How does heat reach us from the sun?

Part R, < PIEEEE >
Note: Attempt any Two Questions. 9x2=18 -u_’f £ /2 :a&lﬁsimﬂlf:::.éﬁ¢] -
State and Explain Newton’s 2nd Law of motion. ool R eI b8 x C:{{

A train start from rest. It moves through 1 Km in 100's with ufl'«?lOoivﬁd%)“grzwzﬁédffﬂ/;t)g&.—;)bJ.‘/_/u_'/'..{l (b)
uniform acceleration. What will be its spced at the end 0f 100's. ?Jny/&:JQ}/?LﬁJ;ﬁ? 1 004(-&/&..1/6(%;‘.{1
) o 4 . r 7 3 Lp 5 r, ra
State and explain the law of gravitation. -Z”_’—U&?L-’JJ}HJ"/ ey (o0 &y’-“dg/éd:: (@6
A car weighing 12 kN has specd of 20 ms . Find its Kinetic Energy. g;r,b»&j,_@-d(‘f;wc_zo ms A /(&1,12 KN Gf)/
AV i PO
Define coefficient of volume Thermal expansion and prove that = —— _Ehedbal Z/Vy/"fydjll LU S ()7

A wooden block measuring 40cm x 10cm X 5cm has a mass 850g. u’tb/é..}gf,u’ﬂ.{l £ij~ 40cm x 10cm X 5cm ()

-’Z'-:(:J’”(j‘/;—J'Jd)J,c".SSOg

Find the density of wood.
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Note:- Y ou have four choices for each objective type
front of that question number. Use marker or pen to fi
question. Write PAPER CODE, which is printed on thi
otherwise the student will be responsibl

questionas A, B,C and D. The choice, which you think, is correct; fill that circle in

1l the circles. Cutting or filling two or more circles will result in zero mark in that

s question paper, on the both sides of the Answer Sheet and fill bubbles accordingly,
¢ for the situation. Use of ink remover or white correcting [luid is not allowed

(D) (€) (B) (A) QUESTIONS Q-1
| ny ‘/“"-/r Sk Y WS PSS |
Power Momentum Torque Energy Rate of doing work is called.
9 7 6 3 *‘L"*JJU"’-”""W:J’:/""K‘/ 2
The number of derived units in SI are. N
lf”; urh Ll o e ?{_/lﬁf}gg,?ufc.‘jﬁdjbu 3
) Which one'o‘fth:e.,_fo‘ll_o'vying is a vector quantity?
Force Mass Distance Speed ol g A
U ol ol Sk - Q RN Tt N
Mass Distance Force Torque Rate of changg ¢ Fnent'ugmsc:quva‘l to
§ e A G s L % .
Lo A S r-‘_/}, Oé&\g) «:,;éiﬁff/l(j)fdid»’u/ 5
g effect of force is called.
Work Pressure Torque Momentum
3 N » \} - . B PR
CrLlo Vs U Y @ ceOndidyssn ROSUSSFGA | 6
Square of Radius Velocity .'“ The centripetal force is inversely proportional to
Velocity
90° 180° 45° -gn:dl/'ug/uémJS/:iJJ}.,?.{ﬂ)’hfu 7
The work will be zero when angle between force and
displacement is
JJ:’JJL{{I ﬂ/__. g/jﬁ}"}/c'- o _‘Ldﬂzfgf/}dbi..lgd@f)//_:”/_'d/}fé_/_(‘;'Uj 8
Buoyant Pressure Young’s Strain The force exerted perpendicularly on unit area of an
force Modulus object is called.
mc? e < m S A ,,l“m"uw(’-a‘ Jil
m c ¥
if“m” is the mass of a body and “c” is its specific
heat; then its heat capacity is given by
1 2 3 4 ‘u!o.s_:.;dﬂdyc-uﬂ/!’gfa/l/ 10
The ways by which transfer of heat takes place are
g = AV _Aar _4av g = AT | B U prppF e @ St viesds | 11
VoAT av AT VoAV | In symbols, co-efficient of volume expansion is
defined as '
wn 'K | owm K| Wk Wm' K 5B FRES AT 12
In SI, unit of Thermal conductivity is

o

925 —0921 ALP - 53000 (2)
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Answer briefly any Five parts from the followings. 5%2=10 -u’//] ut'i/"‘[_lilfl.cufc_u«‘f:bu -Z/Jlr’
Define base units and derived units. sow ) Ju" siAsdlk @
b L F s D
Estimate your age in seconds. e iirboiag 5 Gii)
Differentiate between displacement and distance. c{ubufu'.iﬂbulv’ﬁ-’&gj; Gv)
Define gravitational acceleration and write its value in ST unit, d’.c\_»x’ JJ!J'./J’SIM{:J/“ JJ l’(U/d:’/ )
—cl U (e (5 s s Ny (vi)
Define momentum and write its unit. ~H_‘G~_/:‘KJI JJ'c’_:..JU/ Jr"/f (vii)
Why rolling friction is less than sliding friction? fe :’(IQ/GJK/J.A U/:u’(/’.ﬁu (viii)
Answer briefly any Five parts from the followings. sx2=10 Sz el Limbia $fatditn 3 40r
zf//..,m/fwzf._ﬂ/JJt @
-44/({@;,«?//;!(}! Lyt (i)
?;.;vyﬁ;w)&m (i)

%o

Define Prefixes and give an cxample.

What is meant by uniform velocity?

Define Torque and write its equation.
Define Moment arm and Rigid body.
What is meant by Resultant force?
What is meant by the force of gravitation? "c_)I/U/;::_J»;f‘d;/f Giv)
ey juuw,)éw prgse W
oo 5y, G

Write two applications of Artificial Satellites.

State Law of Gravitation.

Define an Idcal system and write its efficiency. _’JU’ i ul”!__é,_{l/“(;(’/d(/ua (vii)
Dcfine Watt. f,_;{i_ﬂ;f(j‘ i Cviid)

Answer briefly any Five pats from the followings. 5x2= 1@ %}?fuu:’/‘;gl]i@tadfcufgf;bﬁ ..A/Jlr
Define pressure and write its formula? ey hing S S 2 D

Differenciate between stress and strain? %5 “c_J/.tfu"u‘/‘ulLf/‘f Gi)
@ Sel Ve Bt (i)

What is mcant by atmospheric pressure?
What is meant by internal energy? @ OLJI/JGJ/‘J/“J/J( Giv)
L):/g_,g_//’d[./: etz ()

Define heat and temperature?

‘.'cl:.)l/lfa.w/lidtﬁ'f'l (vi)
o 2.7 &0, o

?’&d/ufu“fu‘cf(/f (vid)

What is mcant by transfer of heat?

Differenciate between Conduction andConvection?

Why arc metals good conductors of heat? “u“& 1’u:f)/"/ﬂdil'/u" (viii)
| %) o ON— N I1 [(#3mmmmem e e
Note: Attempt any Two Questions. 9x2=18 -u‘)/ 7 ._aLl]LuUlfuch:( W2
Define significant figures. Write down two rules in identifying Urls L..:)l/JU/M('Lu_“/J_J/’ Ju;ow,rfi (a)s
significant figures. -q/ug.
A train moves with a uniform velocity of 36 xmh™! for 10 s. Find &J&kv{jjl Or.,u"iJ:r/U:',:’JiBG kmh Al ()
the distance travelled by it. _2:((31”)"{50)//&5'/’-9
State and explain first condition of equilibrium. _u_’/c/uwld_/u)k fL/"df{'J(f/d;gf (a6
A block weighing 20 N is lifted 6 m vertically upward. Caleulate the  (21-c 1116 mode 4ot 1 sdi20nL B
Potential energy Stored in it. —ér}”o’-/"ﬂ‘:,'dhd‘-mi'}

State Pascal’s Law and Explain the working of Hydraulic Press. ZA PN SR PRI 1V WL AT WL sfL @7
A brass rod is m long at 0 °C. Find its [ength at 30 °C. (Coefficient SUuies ki gho caiwd e ®
e OSLsud Qs db L SE Btk 30°C

e L9x107°K A

of linear thermal Expansion of brass = 1.9x% IO'SK_I)

& ’
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Note:- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct;
fill that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles

will result in zero mark in that question. Write PAPER CODE, which is printed on this question paper, on the both

sides of the Answer Sheet and fill bubbles accordingly, otherwise the student will be responsible for the situation.

Use of ink remover or white correcting fiuid is not allowed

(D) (¢) (B) (A) QUESTIONS Q-1
Jkgk™ Jkg'k Jkg 'k Jkgk S.| unit of specific heat is < yS.1¥or=t7 | 1
Cdpngodi [Endueti| Codi | Cbprg e Mt o | 2
Shining A dull black A white Agreen [ \which of the following is a good radiator of
silvered —_— surface coloured
surface " surface  |heat
t/[(jk;’ﬂgf:—g’ U;be;«{ tﬁﬁfr_/ t/.:«;‘/lfc—-g’ - Eat > (Lﬂog’&uﬂ gl 3
Lr:::ger:tt?)fe Keep the roof | o) the room | Insulate the |False ceiling is done to
ceiling clean ceiling
The nu ase units in Sl are
Ao s Sy P > <« eyl 5
Distance Displacement Velocity Speed <Q nge in position is called
ST I Skt W (O Lule Ligpnl uFdhiSizudt 220 | 6
oil Air Fine marble r I T B
powder Q) Which of the materials lowers the friction
N when pushed between metal plates.
¢ UIG LK Sy O e - bUUIEREH| 7
Momentum | Third law of Firstlaw of 1} 2.y of inertia is known as
motion motion
e Qe 36 30° AL ixundfiS 10N] 8
7N 8.7N 4N K wasd P i
The force of 10 N is making an angle of 30° with
horizontal, Its horizontal component will be
1 1 I 5 -(rJn{dAizuL;ﬂé/LcﬁJ;;ﬁif;.fJg 9
49 39 N 8 The value of g at a hgight one's Earth
radius aboy e of Earth is
| A me el LdeF 2| 10
10J 50 J 100 J & - SV
: The work done in lifting a brick of mass 2 kg
through a height of 5 m above ground will be
G S R 1 B ess e G M | 11
Nuclear Chemical | Kinetic energy | Heat energy |The energy stored in a coal is
energy energy
136tmes | 135times | 13.4times | 13.3times e uife dl| 12

Mercury is more denser then water.

981-0919— 58000 (‘)



S6-6T -9 ,,'-u.*” sk A &4 Juet g gy ot (f=+12) 0919

(1) sk §r i (2015-17 to 2018-20 %) ("r’/ 179 (@) J?
48/.F  Part 1 sl o 145
Answer briefly any Five parts from the followings:- 5x2=10 -.,()}}’..-.uzﬂélz' ‘& r.ch. 4 dlbp <2
Define Plasma Physics and geo-Physics. -2}: ..g/’J J‘;ﬁ»’ gf'/’i.)lg ()
What is meant by least count, Write the least count of metre rule. NS TSy e ilpVe eabed (i)
When the zero error of screw gauge will be negative? ¥ ;é‘g.,ﬁgh_/i ¥ {-jrg/ (i)
Define the vibratory motion and give one example. S Je L PSS Sk (i)
Falcon can fly at a speed of 200 kmh™ change this speed in SI unit. é Jrs .';.gSIf;};ul-g. %‘lc,l}n,( Wi 2006¢ (v)
Find the acceleration that is produced by a 20 N force in a S-g IS 20N Pl LK B (i)
mass of 8 kg. S ‘ﬁ)'g‘ Us &stiig S (7
Wirite any two disadvantages of friction. ) - et Jf& f;' (vii)
What is meant by banking of roads? Seslp Ve 30 ST LE: (vili)
Answer briefly any Five parts from the followings:- 5x2=10 -q/}j’:.w/’az' && P ch.u‘: gb&u <3
What are First Condition and Second Condition for equilibrium Qb2 mub S EASET )
How head to tail rule helps to find the resultant of forces? -t LAS LS (2 2y 6 Ju Fik (i)

How can you say that gravitational force is a field force? e B L BN ATIAL uELUV. w1 (i)
State the law of gravitation. -é Uk uIb ¥ «ﬁ‘ d!/ (v) <g/ at is GPS. - bx V' GPS (iv)
Define Mechanical energy and give an example. @ S JeLin ZE 3 SEASE (i)
What is meant by nuclear energy. Write its peaceful use. ° {&@{BO & i S5l P G A (i)
Define efficiency and write its equation in percentage. % OO J SIS é ..y}"'J u‘? (fl (viii)
Answer briefly any Five parts from the foll@%g 5x2=10 -;{/{/’.:.pzﬂé 1Z1 ‘5:. ch, V4 gbba -4

Write down any two Application of Pascal's 3 & Jubl»c_éfﬁ wItL J’g (i)

Define density and write its Formula. A1 Jlasl é .._g/"'J § "5 (i)

What is meant by Evaporation? ¥ & gﬁ»;.g' (iv) State Archimedes, Principle.-’af; vk Jr 1§ JA_/‘A (i)
How many scales are there measurement of el yisg AT L FeLlid v

temperature write their na

What is meant by green house effect? eV L o} ti/ (vi)
Define Thermal Conductivity. Write its equation. & oS s PSS i)
What is meant by Conductors and Non-Conductors? S slpUa Pt s P30 (i)

Part Il o -

Note: Attempt any Two questions. 9x2=18 LSz lctrnedf  od
State Newton's Second Law of motion and prove that F=ma /4 F=ma .| L{f _v.t'u!u_/ Uk IE g € O)s
A train slows down from 80 kmh”" with a uniform retardation 5 < o25k.ptizy £2 ms? Ly o idnd = 283 25 80 (&)
of 2 ms™. How long will it take to attain a speed of 20 kmh™. WL LS WPt 253 2K 200 Sun
Define addition of forces. How head to tail rule is used to 4 enl S duf Ik E WS eS 3 0.6
determine a force from its Perpendicular components? ZE O ulf sl e St

Explain it with figure.
Calculate the power of a pump which can lift 70kg of 5 -4 Ect's.‘i S 10s FSak S 16m S J'L' 70kg o4 L1 (o)

water through a vertical height of 16m in 10 seconds. -i (}"»g J -4
Define and explain the linear Thermal expansion in /4 uu-e_i-’ .=.>uml-q/ ..y/'"J U4 le/d)u: rbd v OL7
solids and derived L = L, (1 + @ AT’) equation. Jlistem L=L, (1 +a AT)
A cube of glass of 5cm side and mass 306 g, hasa 75 1L Uinle 306 guUi¥ord L EFLL 2L 2575 (L)
cavity inside it. If the density of glass is 2.55 gem™. V172,55 gem® G} &8 Mo Qe dy (L) (o
Find the volume of the cavity. -q)}:“"p!b "ied
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B IS 32 QL 2 ene S e sy J¥312-f L% D HIC B A 2l Ly id
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A P! ,,AIJ'-JM H‘,Ju ot 30 2 Tall S 4 Jo L 1E S s PAPER CODE
Note:- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct;
fill that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles
will result in zero mark in that question. Write PAPER CODE, which is printed on this question paper, on the both
sides of the Answer Sheet and fill bubbles accordingly, otherwise the student will be responsible for the situation.

Use of ink remover or white correcting fluid is not allowed

(D) (C) (B) (A) QUESTIONS Q-1
s JHI6Ls 7 U W On g (-J»' Seff p
Conduction Radiation Absorption Convection |Land breeze and see breeze are result of
o7 W bl o MRV N NS A AT

. - If the velocity of a body b h imes
Nine times Three times Four times Six times Vancky ata body becomas titeeme

greater then Kinetic energy will be

m v , T ,
5 p mv mv Momet»u\ < 4I4P (‘Vr 3

1cm 1 mm 0.01 cm 0.01 mm Q&ﬁ —etresked Kighin| 4

east count of Vernier Callipers is

Lol ﬁ)"'{l s %@ Kz ..,/"J‘b K $ls| 5

Distance acceleration Force The product of velocity and time is equal to
F+R R F, oo’ F e tracet I 6
F, R
' N Co-efficient of friction is equal to
\) ¥ FY .
Jos St Q% )7 s GBI IGIL | 1
Work Torque Pressure Momentum | The turning effect of a force is called
v ] ¥ m? - Sy &’gfﬁwi:ﬂdf":’ 8
Centripetal force is directly proportional to
S ¥ S S e dngmi i L] 9
Thermal Kinetic Potential Electrical | The energy stored in a dam is
N Nm Nm” Nm? -4 S| 10
j%‘mu of pressure is
cv‘ ‘:h"' ..’ 1
3000 Jkg' K | 4200 Jkg ' K [ 2500 Jkg K| 2100 Jkg ! K== i :‘F: g pid Jde | 11
: The specific heat’ f t
e specific heat of wa etis: | I
Oxt Q2 Q _Q _gb/J:lgL:./U 12

2

t ! 4

Rate of flow of heat is

983.-0919- 45000 (4)
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Part I Jst -

Answer briefly any Five parts from the followings:- 5x2=10 -/ zf=\z 2L 12! “GJ[L Lhits -2

Define Atomic Physics and Geophysics.

Write the numbers given below in scientific notation.
(a) 0.0000000016 g (b) 6400000 m

Find the least count of screw gauge.

What is difference between Rest and Motion.
Define acceleration and write its formula.

State Newton's First law of motion.

) (g T Vg ST
LS GES L L€ (i)

(a) 0.0000000016 g (b) 6400000 m
sk ELF i)
- ORIy (iv)
-u.‘ilb’zsb’gﬂul é-}_’/‘ﬂ!ﬁ)’g’ (v)
LU UIT UK KK (vi)

Find the acceleration that is produced by a 20 N Forceina * (U1 ./, SsS i 204 ﬁ-.g&m r;/,f 8 (vii)

mass of 8 kg.
Write any two advantages of Friction.

i i 2
] L 3/& J‘C’ (viii)

Answer briefly any Five parts from the followings:- 5x2=10 -q)}/.-.yuﬂélz' i& ch:.. 94 ‘Zjlw -3
Define Torque or Moment of a Force? What is the unit of Torque in SI? ‘.‘u.‘ﬂ.:-'z . J/tu!(lﬁ Si .q/ AN Tary Lk (i)
Define Rigid Body and Axis of Rotation. _ LIS GPE ST AN e (i)
State Law of Gravitation? Write its mathematical Equation. -q/}f&a':vd 12 q/ Ukl g ﬁ dgf (iii)

Define Field Force? <€) ‘S S U (iv)
What are Artificial Satellites and give an example? @ “LrJeas ol gl g (v)

What is the unit of work in SI system. Also define the unit of work? 'é/ PN PRIV NST S (&S] (vi)
Define Mechanical Energy. Give an example? % -u_';Jt‘/ulu./ .e/‘"J SASF (vil)
Define Power. Write its unit in SI? @ g <Ay SIE 1! u_f - /‘"J sk (i)

Answer briefly any Five parts from the followi @ x2=10 -q)}/’.-.uz,’é:z: &g:.&f.:.uﬁ ;,ZJ L -4
Wirite down two features of Kinetic Molecular mode er -u_&/’.:.yr"» IR vl (i)
State Archimedes Principle, Write its equati -u.‘qf.-«l:v J J! -q_‘f vk ¥, J,«_)/l (ii)
What is difference between ships and rines. - DY L Usisa Tl Sz S7. (i)
Change 300K on Kelvin scale into YA SE T 300K f JEUE (i)
State Thermal Conductivity? ‘ol G207 (Vi) Whatis intemnal energy of a body?%e- st Ve $4 SIS (L_ﬁ v)
What is meant by transfer of heat, Write ways by which transfer of heat takes place. @ pL 7B Ve =7 JE (vii)
Write two uses of conductors. S e LS (viii)

Part II e -~

Note: Attempt any Two questions. 9x2=18 -g[/(/’.:.;lﬁﬁ .-—Ulruc.éf -
Describe any four differences between mass and weight. -k Lunsus Ok
A train starts from rest with an acceleration of 0.5 ms™. e gﬁ)’(fﬁ 05ms’c N fetigidi ()
Find its speed in kmh™, when it has moved through 100 m. = Vtkmh de S £ i Jo Jaik 100«

State and explain the first condition for equilibrium. A4 LIS AT ACPRIIN ) N
A motor boat moves at a steady speed of 4 ms”. Water resistance 25 Jy 1o §/ele tre NS ams! L vl ()
acting on it is 4000 N. Calculate the power of its engine. AL e 4000 NP0 QS
Define volume thermal expansion and derive the / 4 =l é .4/7J U Jﬂ/u: o) Or7
equation V =V, (1+SAT) _éjp'lV:Vn(H—ﬂAT)
A cube of glass of 5 cm side and mass 306 g, has a As sl VInle 306 g SWod £ELL 2575 (&)
cavity inside it. If the density of glass is 2.55 gem™. Find V17x255 gem GBI e Je di (i) i
the volume of the cavity. ek

0
<&
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Note:- You have four choices for each objective type question a
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Cf e ) 0945

. ~u
(sl ik (SJy

(?A/U:i) Rl LR
,;{Qi’dl:?-u_??:&__: DsC . B, A _:L‘:?,.'A?/t_p;: for b s

s A, B, C and D. The choice which you think is correct.

rcles. Cutting or fitling two or more circles
ed on this question paper, on the both
dent will be responsible for the situation.

(D) (C) (B) (A). QUESTIONS Q-1
15 °C 37 37 °F 98.6 °C - EAEF SOy | 1
Normal human body temperature is
¥ i S dy e Je b g Kl | 2
Copper Ice Mercury Water Which of the following material has large specific heat.
5156 402 W3 Figds o5 ‘e Ve 2@ Su T | 3
r\g%l;zrgir Conduction Radiation Convection |in gases, %@mainly transfered by
. X A , <>© eS| 4
{l’h%&mber of base unit in S are
s\ o s ; @ -Q}Q/'ﬁ’dufc.u:(zi._zu? 5
Powes Displacement Distance 5&5 Which of the following is 3 vector quantity?
UL S S &hg _c MK L] 6
Mass Velocity - Fo@ Net force Inertia depends upon
NS Nm {ﬁ\;}sa NS iy K(i.yrc,lﬂd_’}_?zp 7
Which of the following is the unit of momentum
: 5 ! Z The number of . :MJJ%,IJML J/)u'/ 8
perpendicular components of force are
8000 ms™! 800 ms™' 8 ms! s - J’TkJLf‘jjJ‘guYL "’""‘J’;{ 2
2ero The orbital speed of a low orbit satellite is
Gibd FUAS sme i ¥ 2| 10
100 J 50J 10J 25 -b’x.ﬂ,l_flf
The work done in lifting a brick of mass 2 kg
- through a height of 5m above ground will be
g Jeii ARGE | AL | L CAKBS G A ea St s | 11
Electric cell Photocell Electric Electric bulb fe S Sx
Which one of the following device converts
| generator light energy into electrical energy.
10° Nm™ 10° Nm? 1Nm? 104 Nm?2 | & e FUdime Frawiz, o P | 12
SI unit of pressure is Pascal which is equalto

961A 0916 58000 (4) 5G9-9.y-12
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Part ------ I U e eemeee -
Answer briefly any Five parts from the followings:- 5x2=10 -q/(j_-,uz/""[. 171 él; < ch. L J_’s s -2
Differentiate between base quantities and derived quantities? ‘J_f C Iy D/UE Usslise 52\ sl (i)
Define atomic and nuclear physics? CEE PSSP L (i)
Differentiate between rest and motlion. -Z (‘: hO L c/‘”n’.‘/_'l (iv) Define plasma and geophysics?ﬁ'zg.-f _@/JJ'-/,;.‘,,IL;Q (iii}
Write two types of motion? ozak (Ll S (v)
Define force and write its S.1. unit? ?&c_v'g S.AE Al éqﬂd’w} {vi)
Define momentum and write its equation? o iy d; 1t é ._g/JJ (“'-’r (vii)
Write two advantages of friction? vzl i L S (viii)

Answer briefly any Five parts from the followings:- 5x2=10 -t/./{/’é‘“i /"’ﬁ 1Z1 &g T ch. K ;_Z 3w 3
Define Resolution of Forces. 2% v /(f 3 5Tefdsys (i) Define head to tail rule v S0 e i)

Define gravilational Field strength. .25 /0 0 W ¥/ (iv)  Define garvitational constant .25 i/ e F¥ 5y /(i)
Define Power and wite its unit. -2 &y ¥1n1 22 /6at (vi)  What is the Fl@(@) S YUl (v)
Define Energy and write its unit. O & <A KUl ?5 _gﬂ,( S/ (vii)
What is meant by Mechanical Energy? O&&% fe sy d/‘l‘)‘fzj (viii)
Answer briefly any Five parts from the followin @3=1o LI ALz G e L Sitn -4
Write .any two features of kinetic molecular model r. L _—,.p,»»",, dSSUn )(-ot Ledv ot (i)
Write any two properties of liquid. & =l g :ﬁft (iii) State Hooke's law. -’c;f kb ¥ ..f (ii)

Define heal.

i S e (iv)
perature on celsius scale.  -2= Jurl £ JE Neal A BOOK,;L}:CL-);EI v)

Convert 300 K on kelvin scale in

Define conduction. 2wl nf“ & (vi)
What is greenhouse effect. +¢) g b ui}u_‘/ (viii)  Define land breeze and sea breeze.-é J)Jd/-(-)ul dz(-) (vii)
Part 11 (9 -2
Note: Attempt any Two questions. 9x2=18 -.,z/(faw.é :.Ulrur_tj/ -
Derive third equation of motion with the help of graph. 4 -25 e, Stfehl $~2 u( =/7 OL5
A body of mass 5 kg is moving with a velocity of 10ms™. 45 22/ 1e 1./ 7e ud 10ms' A Livui e S¥ 5 (L)

Find the force required to stop it in 2 seconds. SE UK LS
Define potential energy and derived its formula A4 PE. = mgh-'éj&l U6 § ol af!.yﬂ,(d.;u J"‘é’ ($) N
P.E. = mgh

Find the magnitude and direction of a force, if its A5 cod ym12Nesd x6 e ternmis i (&)
x-component is 12 N and y-component is 5 N -« 5N
Define specific heat. How would you find the specific /:;4 J(J”c_( .n‘".;ﬂ/J f"d;"’-_ﬁ - /. _e/“J-lf" =7 017
heat of a solid - J‘:‘

A student presses her palm by her thumb with a force /{'5 < rg.-/&f"’@/tﬁ JJ}J 7SN é_".;fl z;_'H"__)Lb —{' (Y)
of 75 N. How much would be the pressure under her Wt 2y L AL 15 em? &L chLui

thumb having contact area 1.5 cm’

962A- 0918 - 58000 $60-7-|—2218
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Note:- You have four choices for each abjective type question a
fill that circle in front of that question number.

will resutt in zero mark in that question.

sides of the Answer Sheet and fi

S e Qe L LS L PAPER CODE

L2400 091
(S J7

=15 =

=\l ,f/(_, < L,"J’/f Sy

s A, B, C and D. The choice which you think is correc::

Use marker or pen to fill the circles. Cutting or filling two or more circles

Use of ink remover or white correcting fluid is not allowed

Write PAPER CODE, which is printed on this question paper, on the both
Il bubbies accordingly, otherwise the student will be responsible for the situation

(D}

(C)

(B) (A} QUESTIONS Q-1
. , ; , ce I Sunie il LUy s| 1
In S1 units, number of base quantities are
- b ( N LR
ms™' ms? Km h Km b’ b ruys | 2
In Sl units, unit oj/\speed is
2 2, 2 ) O . T .
F=m | pomy | pmt | e m LSl B s | 3
r ‘ r ' v r v
Fo‘%@\@cemripitar force ' 7, " is equal to
» & . <y »
Ul f)"f' 924 LAY ) QQV\\? - (/;'JJ.*.:U: fy"’ 4
Velocity Acceleration Force Displa e Rate of change of momentum is
e - -
Zero p* 0.707 0.866 _ Crie % Value of cos 90° is - Uizt J cos 90° 5
s - & \) » - 3 . - &
g i Jart (! }> (Vs VG S S kaf“.‘; 6
Einstein Archimedes Newton T an who came up with the idea of
g as
J?Lzl sk /2{ Sl A‘asf - a_/ :{L/-Jd_/..fu 7
Efficiency Power Pressure Energy %ﬁge of doing work is called
. T et UG | 8
PE=mah | PE=mgh |PE=mgh’| PE=pmg ML O
Forfiula of potential energy is
Four s Three J Two » One ..{l Fhgier exists in the states. -~ tlgggu:u:‘)b&g 9
.“.::: . ’ R 10
0°C 373K .273°C 273°C 4:5 - thsiesd e
118 called absolutezero.
A e ke ity s| 11
Jkg K JKg' K JKgK' J Kg K et iasiliaid e
In St units, the unit of specific heat is
s el ey FIh, —e I Ve EIL ot | 12
Absorption Convection Conduction Radiation in Solids, heat is transferred by.

963 A 0918 42000
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Answer briefly any Five parts from the followings:- 5x2=10 -Jf//utli/"él?l élc.dlc.u':d:b» -2

Differentiate between base units and dernved units _4 U&-V"U- J’- )"\vu'v YU (i)

What is meant by prefixes ey Ve ,'A"J{ (i)
What is meant by least count write the least count of metre rule -216.:;3{.:_435’31;/‘{.;_ e 5K e (i)
Define translatory motion and give an example. e '%{-é'/;:O/J:‘d ,z"i; (iv)
Differentiate between scalars and vectors. S YA i S (v)
Define centripital force and write its mathematical form é‘f'du JJ;,,u qu JJ,’U 15/’ (vi)
State law of conservation of momentum. L LI KL Ay (vii)

What is meant by inertia. —eotp e Vot (i)

Answer briefly any Five parts from the followings:- 5x2=10 _u_*&f_-,w,""z.’.izn &5 c—t}fc-«j dil'w =3

Define resultant force? eSS und e ()

Differentiate between centre of mass and centre of gravity? ol Eudpt G ST AU ST~ i)
State Newton's law of gravitation? sy S pluinl Sy JE (i)
What are artificial satellites? @ fe iyl Ve ettt g5 (iv)
What is global positioning system? Write its use? .@ Je=i b’J! e ] By JF )

Define work and write its Si unit? {&%O 2 //_/,'Sl Kgl;,rgf J/"d/ S (vi)
Define heat energy? Write its some sources? % & dln.«‘, V! ‘-'L{/ _g/J Grtams (vii)

%@ "u‘//f-ll:'zﬁ Kl feu s Ve u‘.?"l (viii)

Tt J.-’uuru[ Y S ,4,,_-.f dg (i)
State Pascal's law? 25 o /fuis L J"l_: (ii)
v St SETEA 300K JFuE ()

Define heat capacity and write its unit? va”_w K1l éJ,JJij'fa/l/ {v)
Write two factors at which ratio of radiations emitted depends? tad < asf LSt e hrd L FIGti P (Vi)
Define green house effect? : o v P ey J/ (vii)
Differentiate between land and sea breezes? vt EnoSLF F'u'd/. (-) (viii)
Part 11 (v -~

Note: Attempt any Two questions. 9x2=18 -J /( f:«UﬁL slyne J/ -
Derive the third Equation of Motion with the help of Speed-Time graph. / 4 -é Bl s J =S4 J _il/ ( Loy OLs
A body of mass 5 kg is moving with a velocity of 1oms”. A5 _c‘:_'g//_/ic_ oS 10ms” P LK UL ¥ s (L)
Find the force required to stop it in 2 seconds. -J/(:l”du’zgm— L LS ik fui
Define potential energy and give an example. Also derive its formula. / 4 & »'L{ Uy s Je L Z J/’J 597 J’: Ore
A force of 100 N is applied perpendicularly on a spanner at a / 5 Jinf £ e { HEL N0 CMe AUV #2100 (&)
distance of 10 cm from a nut. Find the torque produced by the force. -E_: (r* by i e ! -< 61‘
Explain the linear thermal expansion in Solids. ﬂ'4 ) -z!;»u,- 1% d:*'uf_rl/?lu:“’ 0)-7
A Steel wire of 1m long ang cross-sectional area / 5 L4 J""‘u’!f 5%107 m? L i JJ}L(!/'{ 1 (_',)
Sx 107" m? is stretched through 1 mm by a force of S 1 mm s ou Suie 8s9 10,000 N
10,000 N Find the youngs modulus of the wire. L& (}"u Ay e K;tJJ./:a tls
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